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Algebra 2: Cummulative Review Homework 5
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5. Which relation is a function?
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6. Ifg(x)=x>+4x-5, find g(—4). gC=4) = (~u) +4(-u)-5
a. -85 b. 27 c. 5 =5 = il | (=S
7. What is the slope of the line that passes through (a, b) and (-a, b). = -5
; b b
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Ak —G -4 20
8. Write an equation of the line that passes through the points: (-—-5, - 2)and(3, - 1).
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9'. Find the product: (-6k+4)( Tk + 2k 7) l e 2 be -y
a. -Tk*-4k-3 c. —42c - 40k* - 34k -28
(b) 42 —40k* +50k - 28 d. —~7k*-12k-28

u2k—12k* + 42k
-28k* + 8k - 25
Yo k2 -yo k™ +50k -2%
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Find the product: (ﬁg - 41:) .
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